


�����������	


��


�


��
�����
��������


����

������


����


����

��� ���


����

��

��
�����
��������


��

� � �

�  !



"
#

"
#

��
����
���$�����

��
����
���$�����

%����$�
���$���

%����$�
���$���


��&
��&


�� 
����


����

���

���

��





' ( ) *
+



0 1 2 3 4 5 6
0.4

0.6

0.8

1

1.2

Vin(V)

V
ou

t(V
)

Iout=1mA

Iout=40mA

Iout=100mA

Vout-Vin
Top=25℃

1.5 2 2.5 3 3.5 4 4.5 5 5.5 6
1.16

1.17

1.18

1.19

1.2

1.21

1.22

1.23

Vin(V)

V
ou

t(V
)

Iout=1mA

Iout=40mA

Iout=100mA

Vout-Vin
Top=25℃

0 200 400 600
0

0.2

0.4

0.6

0.8

1

1.2

1.4

Iout(mA)

V
ou

t(V
)

Vin=1.7V

Vin=2.2V

Vin=3.2V

Vin=5.0V

Vout-Iout
Top=25℃

0 30 60 90 120 150 180 210 240 270 300
0

50
100
150
200
250
300
350
400
450
500
550
600
650
700
750
800

Iout(mA)

V
di

ff
(m

V
)

Vdiff-Iout
Top=25℃

2 3 4 5 6
0.5

0.6

0.7

0.8

0.9

1

1.1

1.2

1.3

Vin(V)

V
C

EH
(V

)

Vceh-Vin
Top=25℃

2 3 4 5 6
0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

Vin(V)

V
C

EL
(V

)

Vcel-Vin
Top=25℃



0 40 80 120 160 200 240 280 320 360

0.5

1.0

1.5

2.0

2.5

O
ut

pu
t V

ol
ta

ge
(V

)

Load Transient Response
Cin=Co=1.0μF

Time(μS)

Output Voltage

Output Current

100mA

10mA

Vin=2.2V

0 40 80 120 160 200 240 280 320 360

0.5

1

1.5

2

2.5

3

3.5

4

Time(μS)

In
pu

t,O
ut

pu
t V

ol
ta

ge
(V

)

Input Transient Respose
Co=1.0μF

Input Voltage

Output Voltage

0 1 2 3 4 5 6
0

2

4

6

8

10

12

14

16

18

20

Vin(V)

Is
s(
μ

A
)

Iss-Vin
Top=25℃

101 102 103 104 105
0

10

20

30

40

50

60

70

80

Frequency(Hz)

R
ip

pl
e 

R
ej

ec
tio

n(
dB

)

Ripple Rejection
Co=1.0μF



0 1 2 3 4 5 6
0.8

1

1.2

1.4

1.6

1.8

Vin(V)

V
ou

t(V
)

Iout=1mA

Iout=40mA

Iout=100mA

Vout-Vin
Top=25℃

2 2.5 3 3.5 4 4.5 5 5.5 6
1.72

1.73

1.74

1.75

1.76

1.77

1.78

1.79

Vin(V)
V

ou
t(V

)

Iout=1mA

Iout=40mA

Iout=100mA

Vout-Vin
Top=25℃

0 200 400 600
0

0.5

1

1.5

2

Iout(mA)

V
ou

t(V
)

Vin=2.3V
Vin=2.8V

Vin=3.8VVin=5.0V

Vout-Iout
Top=25℃

0 30 60 90 120 150 180 210 240 270 300
0

50
100
150
200
250
300
350
400
450
500
550

Iout(mA)

V
di

ff
(m

V
)

Vdiff-Iout
Top=25℃

2 3 4 5 6
0.5

0.6

0.7

0.8

0.9

1

1.1

1.2

1.3

Vin(V)

V
C

EH
(V

)

Vceh-Vin
Top=25℃

2 3 4 5 6
0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

Vin(V)

V
C

EL
(V

)

Vcel-Vin
Top=25℃



0 40 80 120 160 200 240 280 320 360

1.0

1.5

2.0

2.5

3.0

O
ut

pu
t V

ol
ta

ge
(V

)

Load Transient Response
Cin=Co=1.0μF

Time(μS)

Output Voltage

Vin=2.8V

Output Current

100mA

10mA

0 40 80 120 160 200 240 280 320 360
0.5

1

1.5

2

2.5

3

3.5

4

4.5

Time(μS)

In
pu

t,O
ut

pu
t V

ol
ta

ge
(V

)

Input Transient Response
Co=1.0μF

Input Voltage

Output Voltage

0 1 2 3 4 5 6
0

2

4

6

8

10

12

14

16

18

20

Vin(V)

Is
s(
μ

A
)

Iss-Vin
Top=25℃

101 102 103 104 105
0

10

20

30

40

50

60

70

80

Frequency(Hz)

R
ip

pl
e 

R
ej

ec
tio

n(
dB

)

Ripple Rejection
Co=1.0μF



1 2 3 4 5 6
2

2.2

2.4

2.6

2.8

3

Vin(V)

V
ou

t(V
)

Iout=1mA

Iout=40mA

Iout=100mA

Vout-Vin
Top=25℃

3 3.5 4 4.5 5 5.5 6
2.93

2.94

2.95

2.96

2.97

2.98

2.99

3

Vin(V)
V

ou
t(V

)

Iout=1mA

Iout=40mA

Iout=100mA

Vout-Vin
Top=25℃

0 200 400 600
0

0.5

1

1.5

2

2.5

3

3.5

Iout(mA)

V
ou

t(V
)

Vin=3.5V

Vin=4.0V

Vin=5.0V

Vin=6.0V

Vout-Iout
Top=25℃

0 50 100 150 200 250 300 350 400
0

50
100
150
200
250
300
350
400
450
500
550
600
650

Iout(mA)

V
di

ff
(m

V
)

Vdiff-Iout
Top=25℃

2 3 4 5 6
0.5

0.6

0.7

0.8

0.9

1

1.1

1.2

1.3

V
C

EH
(V

)

Vceh-Vin
Top=25℃

Vin(V)
2 3 4 5 6

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

V
C

EL
(V

)

Vcel-Vin
Top=25℃

Vin(V)



0 40 80 120 160 200 240 280 320 360

2.0

2.5

3.0

3.5

4.0

O
ut

pu
t V

ol
ta

ge
(V

)

Load Transient Response
Cin=Co=1.0μF

Time(μS)

Vin=4.0V
Output Voltage

Output Current

100mA

10mA

0 40 80 120 160 200 240 280 320 360
2

2.5

3

3.5

4

4.5

5

5.5

6

Time(μS)

In
pu

t,O
ut

pu
t V

ol
ta

ge
(V

)

Input Transient Response
Co=1.0μF

Input Voltage

Output Voltage

0 1 2 3 4 5 6
0
2
4
6
8

10
12
14
16
18
20
22
24
26
28

Vin(V)

Is
s(
μ

A
)

Iss-Vin
Top=25℃

101 102 103 104 105
0

10

20

30

40

50

60

70

80

R
ip

pl
e 

R
ej

ec
tio

n(
dB

)

Ripple Rejection
Co=1.0μF

Frequency(Hz)



1 2 3 4 5 6

2.4

2.6

2.8

3

3.2

3.4

Vin(V)

V
ou

t(V
)

Iout=1mA

Iout=40mA

Iout=100mA

Vout-Vin
Top=25℃

3 3.5 4 4.5 5 5.5 6
3.23

3.24

3.25

3.26

3.27

3.28

3.29

3.3

Vin(V)
V

ou
t(V

) Iout=1mA

Iout=40mA

Iout=100mA

Vout-Vin
Top=25℃

0 200 400 600
0

0.5

1

1.5

2

2.5

3

3.5

4

Iout(mA)

V
ou

t(V
)

Vin=3.8V

Vin=4.3V

Vin=5.3V

Vin=6.0V

Vout-Iout
Top=25℃

0 50 100 150 200 250 300 350 400
0

50
100
150
200
250
300
350
400
450
500
550
600

Iout(mA)

V
di

ff
(m

V
)

Vdiff-Iout
Top=25℃

2 3 4 5 6
0.5

0.6

0.7

0.8

0.9

1

1.1

1.2

1.3

Vin(V)

V
C

EH
(V

)

Vceh-Vin
Top=25℃

2 3 4 5 6
0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

Vin(V)

V
C

EL
(V

)

Vcel-Vin
Top=25℃



0 40 80 120 160 200 240 280 320 360

2.5

3.0

3.5

4.0

4.5

5.0

Time(μS)

O
ut

pu
t V

ol
ta

ge
(V

)

Load Transient Response
Cin=Co=1.0μF

Vin=4.3V

Output Voltage

Output Current

100mA

10mA

0 40 80 120 160 200 240 280 320 360

2.5

3

3.5

4

4.5

5

5.5

6

Time(μS)

In
pu

t,O
ut

pu
t V

ol
ta

ge
(V

)

Input Transient Response
Co=1.0μF

Input Voltage

Output Voltage

0 1 2 3 4 5 6
0
2
4
6
8

10
12
14
16
18
20
22
24
26
28

Vin(V)

Is
s(
μ

A
)

Iss-Vin
Top=25℃

101 102 103 104 105
0

10

20

30

40

50

60

70

80

Frequency(Hz)

R
ip

pl
e 

R
ej

ec
tio

n(
dB

)

Ripple Rejection
Co=1.0μF


